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TERAESERELES 76.61 84.65 -8.04 . -
TEERMEXIEEREES 12.76 20.23 -7.47 = S
AEEE 22.22 19.79 2.43 = =
TEREEES 3.02 3.00 0.02 = -
MEREFIBEAEREES 18.16 16.61 1.55 = =

EZHhR S RIEEAS

BREE T e 1.04 0.18 0.86 = 5
HEWEE 26.08 38.21 -12.13 o =
BEAS 8.00 14.27 -6.27 = 5
BEREAES 18.08 23.94 -5.86 = =
BESEE 308.62 285.40 23.22 = 39.27
RESRIWARE 197.66 236.68 -39.02 = 33.89
A ERIhE BES 108.50 44.76 63.74 = 5.38
WIEEXRERES 2.46 3.96 -1.50 = S
RBEEE 86.08 119.79 -33.71 11.07 101.35
SRR ES 86.08 119.79 -33.71 11.07 101.35
FRSEZEEEE 1.65 1.10 0.55 = 0.21
W%%ﬁﬁﬁur“ & 1.65 1.10 0.55 = 0.21
EXEEE 451.54 394.57 56.97 - 33.00
%%ﬁBUWA%% 451.54 394 .57 56.97 - 33.00
MEE 187.58 165.14 22.44 = 3.45
TELZTERS 187.58 165.14 22.44 = 3.45
BERMNIEE 128.12 171.93 -43.81 = 1.30
BRIGFEES 98.18 140.19 -42.01 = 0.30
HERNES 29.94 31.74 -1.80 = 1.00
RIBFREZETE 68.47 78.70 -10.23 = 0.50
IRIBREES 68.47 78.70 -10.23 - 0.50
TREEEEEEETE 268.62 261.85 6.77 7.04 =
TREEEEES 268.62 261.85 6.77 7.04 =
BB EREEEEEE 8.23 8.23 = = 0.44
L:ﬂﬁﬁ,%?ﬂéﬂﬂ% 4.58 3.99 0.59 = 0.44
EREREREXRERES 3.65 4.24 -0.59 s .
NERGEEETE 0.12 0.10 0.02 = 0.01
RITHRIETE S 0.12 0.10 0.02 = 0.01
BRI EET/)\E 116.88 48.52 68.36 = 48.22
BfGEEE 116.88 48.52 68.36 = 48.22
HEEERERMNNERES 116.88 48.52 68.36 - 48.22
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